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000000 > rpois (10, lambda = 3)
Rooo: st — 5432424171
dpois(y, A = 3) .

ERERERN [ > rnorm(9, mean = 0, sd = 1)

Rooo: | _ 1.4851004 -0.9912880 -0.1092131
dnorm(y, p = O, ~2.1752314 -0.3779424 1.1360432
o=1) 1.2493592 -1.2405408 —0.4425550
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> d <- read.csv("d.csv")
> head(d) # 4d U0 OO OO

id size flower

O O b WD

£001
£002
£003
£004
£005
£006

~N OO O O Wb

. 8525
.9208
.6705
. 71628
.1813
7.

2697

O O O O O O

flower 0 0(00D0D000)0 1(0000D0D0)0D0OO0

(CSV: Comma Separated ValueO O O OO0 000000000 O0OO0O)
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glm(O) OOOOOO0OO

> summary(glm(flower ~ 1, familiy = binomial, data = d))

Call:
glm(formula = flower ~ 1, family = binomial, data = d)

(@)

Coefficients:

Estimate Std. Error z wvalue Pr(>|zl|)
(Intercept) 0.160 0.201 0.8 0.42
R D I

00 (CoefficientsI 0000000000 0000)O
00000 (Estimate) 0 & =0.16 0000
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glm() O flower ~ 1 + size UUOUOOOOOOONOO O

> summary(glm(flower ~ 1 + size, familiy = binomial, data = d))
Call:
glm(formula = flower ~ size, family = binomial, data = d)

P (I I
Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) -10.033 2.239 -4.48 7.4e-06
size 1.011 0.221 4.57 5.0e-06
D - F=1 TR AR AEE=]

0 0O (Coefficients) L[]
00000 (Estimate) O
(6 = —10.0, b = —1.01)
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